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Abstract TE132404

The objective of this thesis was to study the effects of independent variables: (1)
speech level (2) industrial noise level, and (3) earplugs on the speech intelligibility.
Fifteen male and fifteen female subjects were used in this study. The average' and
standard deviation of age for the male subjects were 27.1(+5.3) years and 23.9(+1.1)
for the.females. In the experiments, there were 6 levels of speech: 50, 60, 70, 80, 90,
“and 100 dB(A), 4 levels of industrial noise to make S/IN ratios of -6, O,_+,6, and +12 for
each speech level. For the earplugs, there were 2 levels: use and not use the earplugs.
The tests consisted of 6 choices for one word spoken in one question. The subjects
must select only one choice according to what they heard. There were 60 questions in
one test and the total of 48 tests prepared. Each subject did 48 test . All sequences of
the tests were randomly selected. For the speech intelligibility, ISO TR 4870 was used
to evaluate the percentage of correct answers. According to the ANOVA results, all- of
the dependent variables affected the speech intelligibility significantly (p<0.05). The
lower the speech level, the lesser the average percentages of speech intelligibility. For
the industrial noise level, the higher the noise, the lower the average percentages of
speech' intelligibility also. Wearing the ear plugs caused lower average percentage of
speech intelligibility but the percentages were higher if the speech level of 80 dB(A) or
more. It was so because the earplugs reduced the speech and noise levels that too
high to the appropriate level for the ears. Therefore, the percentages of speech

intelligibility was higher when using the earplugs.



